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InitSysCtrl();

/*rhlfie/
DINT;

IER = 0x0000;
IFR = 0x0000;

[ *HIIEAPTESE T 27 A4 %/
InitPieCtrl();

/*VIAELPIE R R */
InitPieVectTable();

/WA SCIb T A7 2%/
InitSci();

/ ¥V E CPUSE I 5 * /
InitCpuTimers();
ConfigCpuTimer(&CpuTimer2, 150, 20000);
StartCpuTimer2();

/*HIRILTO T */
InitGpio();

/*HIURALEV*/
eva.Init(&eva);
evb.Init(&evb);
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void ShowDisp(void) // W

{

static unsigned int i=0;
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switch(i)
{
case 0:
i++;
ScibRegs.SCITXBUF =(ku&dOxf)+(3<<5);
break;
case 1:
if(RunFlag) ScibRegs.SCITXBUF =23+(2<<5);
else ScibRegs.SCITXBUF =24+(2<<5);
i++;
break;
case 2:
if(RunFlag) ScibRegs.SCITXBUF =f_now/10+(1<<5);
else ScibRegs.SCITXBUF =f_given_disp/10+(1<<5);
i++;
break;
case 3:
if(RunFlag) ScibRegs.SCITXBUF =f_now%10;
else ScibRegs.SCITXBUF =f_given_disp%10;
i=0;
break;
default:
i=0;
break;
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void rampgen_calc(RAMPGEN *v)

{

// Compute the angle rate

v->Angle += _IQmpy(v->StepAngleMax,v->Freq);

// Saturate the angle rate within (-1,1)
if (v->Angle>_IQ(1.9))

v->Angle -

_IQ(1.0);

else if (v->Angle<_IQ(-1.9))

v->Angle +=

_IQ(1.0);
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// Compute the ramp output
v->0ut = _IQmpy(v->Angle,v->Gain) + v->Offset;

// Saturate the ramp output within (-1,1)
if (v->0Out>_IQ(1.0))
v->0ut -= _IQ(1.9);
else if (v->Out<_IQ(-1.9))
v->0ut += _IQ(1.9);

void RotateVecotr_calc(RotateVecotr_ Handle v)

{
_1iq Ua,Ub;

// Using look-up IQ sine table

Ub = _IQsinPU(v->Angle);
Ua = _IQcosPU(v->Angle);
v->Ualpha = _IQmpy(v->k,Ua);
v->Ubeta = _IQmpy(v->k,Ub);

}

void scope(void)

{

long t1,tm,te;
tl = svpwm.tl;
tm = svpwm.tm;

t0 = ((long)1<<19) - tl - tm;
switch(svpwm.vect)
{
case 2:ua = to+tm; ub = to; break;
case 3:ua = 0; ub = t1; break;
case l:ua = to; ub = ((long)1<<19); break;
case 5:ua = tl; ub = tl+tm; break;
case 4:ua = ((long)1<<19); ub = tm+to; break;
case 6:ua = tl+tm; ub = 9; break;
default: break;
}
uab=ua-ub;
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void svgendq_calc(SVGENDQ *v)

{

_iq Vva,Vb,Vc,t1,t2;

unsigned long Sector = ©; // Sector is treated as Q0 - independently with
global Q

// Inverse clarke transformation

Va = v->Ubeta;

Vb = _IQmpy(_IQ(-90.5),v->Ubeta) + _IQmpy(_ IQ(©.8660254),v->Ualpha); //
0.8660254 = sqrt(3)/2

Vc = _IQmpy(_IQ(-90.5),v->Ubeta) - _IQmpy( IQ(©.8660254),v->Ualpha); //
0.8660254 = sqrt(3)/2

// 60 degree Sector determination
if (Va>_IQ(9))
Sector = 1;
if (Vb>_IQ(9))
Sector = Sector + 2;
if (Vc>_IQ(9))
Sector = Sector + 4;

// X,Y,Z (Va,Vb,Vc) calculations
Va = v->Ubeta; // X =Va

Vb = IQmpy(_IQ(@.5),v->Ubeta) + IQmpy( IQ(0.8660254),v->Ualpha); // Y
= Wb

Vc = _IQmpy(_IQ(@.5),v->Ubeta) - IQmpy( _IQ(0.8660254),v->Ualpha); // Z
= Vc

if (Sector==0) // Sector 0: this is special case for (Ualpha,Ubeta) = (0,0)
{

v->Ta = _IQ(0.5);
v->Tb = _1IQ(0.5);
v->Tc = _IQ(0.5);

}
if (Sector==1) // Sector 1: tl1=Z and t2=Y (abc ---> Tbh,Ta,Tc)

{

tl = V¢,
t2 = Vb;
v->Tb = _IQmpy(_IQ(0.5),( IQ(1)-t1-t2)); // tbon = (1-t1-t2)/2

v->Ta = v->Tb+tl; // taon = tbon+tl
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v->Tc = v->Ta+t2; // tcon = taon+t2

}
else if (Sector==2) // Sector 2: tl=Y and t2=-X (abc ---> Ta,Tc,Tb)

{

t1 = Vb;

t2 = -Va;

v->Ta = _IQmpy(_IQ(®.5),(_IQ(1)-t1-t2)); // taon = (1-t1-t2)/2
v->Tc = v->Ta+tl; // tcon = taon+tl

v->Tb = v->Tc+t2; // tbon = tcon+t2

}
else if (Sector==3) // Sector 3: tl=-Z and t2=X (abc ---> Ta,Tb,Tc)

{

tl = -Vc;

t2 = Va;

v->Ta = _IQmpy(_IQ(®.5),(_IQ(1)-t1-t2)); // taon = (1-t1-t2)/2
v->Tb = v->Ta+tl; // tbon = taon+tl

v->Tc = v->Tb+t2; // tcon = tbon+t2

}
else if (Sector==4) // Sector 4: tl=-X and t2=Z (abc ---> Tc,Tb,Ta)

{

tl = -Va;

t2 = Vg,

v->Tc = _IQmpy(_IQ(®.5),(_IQ(1)-t1-t2)); // tcon = (1-t1-t2)/2
v->Tb = v->Tc+t1; // tbon = tcon+tl

v->Ta = v->Tb+t2; // taon = tbon+t2

}
else if (Sector==5) // Sector 5: tl1l=X and t2=-Y (abc ---> Tb,Tc,Ta)

{

tl = Va;

t2 = -Vb;

v->Tb = _IQmpy(_IQ(©.5),(_IQ(1)-t1-t2)); // tbon = (1-t1-t2)/2
v->Tc = v->Tb+tl; // tcon = tbon+tl

v->Ta = v->Tc+t2; // taon = tcon+t2

}
else if (Sector==6) // Sector 6: tl=-Y and t2=-Z (abc ---> Tc,Ta,Tb)

{

t1 = -Vb;

t2 = -Vc;

v->Tc = _IQmpy(_IQ(®.5),(_IQ(1)-t1-t2)); // tcon = (1-t1-t2)/2
v->Ta = v->Tc+tl; // taon = tcon+tl

v->Tb = v->Ta+t2; // tbon = taon+t2
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void InitXintf(void)

{

#if F2812

// Example of chaning the timing of XINTF Zones.

// Note acutal values should be based on the hardware

// attached to the zone - timings presented here are

// for example purposes.

// All Zones:
// Timing for all zones based on XTIMCLK = SYSCLKOUT
XintfRegs .XINTCNF2.bit.XTIMCLK = ©x0000;

// Zone 0O:

// Change write access lead active trail timing

// When using ready, ACTIVE must be 1 or greater

// Lead mu

st always be 1 or greater

// Use timings based on SYSCLKOUT = XTIMCLK

XintfRegs.
XintfRegs.
XintfRegs.
// Do not
XintfRegs.

// Zone 2
// Ignore
// Change
XintfRegs.
XintfRegs.
XintfRegs.
XintfRegs.
// Double
XintfRegs.

XTIMINGO.bit.XWRTRAIL = 3;
XTIMINGO.bit.XWRACTIVE = 7;
XTIMINGO.bit.XWRLEAD = 3;

double lead/active/trail for Zone ©
XTIMINGO.bit.X2TIMING = ©;

XREADY for Zone 2 accesses

read access lead/active/trail timing
XTIMING2.bit.USEREADY = 0;
XTIMING2.bit.XRDLEAD = 3;
XTIMING2.bit.XWRACTIVE = 7;
XTIMING2.bit.XRDTRAIL = 3;
lead/active/trial timing for Zone 2
XTIMING2.bit.X2TIMING = 1;

// Zone 2 is slow, so add additional BCYC cycles when ever switching

// from Zone 2 to another Zone.

// bus contention.
XintfRegs.XBANK.bit.BANK 2;
XintfRegs.XBANK.bit.BCYC 3;

#endif

This will help avoid
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